OPIrANIKH XHMEIA

AXkivia (C,H, v=2), AKeTtulAévio (a1Bivio)

mopdivon 1200° C

uebavioo 2 CHy ——> HC=CH + 3H,

vdpdloon CaC, + 2 H,0 — Ca(OH), + HC=CH

ovBparaofeotion

apuopatoyovest G Hy X, + 2 NaOH “xois oy G H, ,+ 2 NaX + 2 H,0
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HC=CH + HCl —> CH, =CH —*“—> CH;=CH
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Nepos C\Hzy2+ H-OH —2— C\H,,0

HC=CH + HOH —53—> (CH,=CHOH) ——> CH;CH=0

CH,,_,+ HCN —> C/H,,«CN
HC=CH + H- CN —> CH, = CH-CN (axpvlovitpiiio)

Yopoxvavioo

3 HC=CH —> C¢Hg (Bevibio)

ToA )
OAOHEpLOpOS 2HC=CH ———> CH=CH-C=CH (proioaxsctviévio)

HC=CH + Na ——> HC=CNa + "2 H,
HC=CH + 2 Na —— NaC=CNa + H;

Oc&vo Yopoyovo

Aviyvevon
Towtomoinoy HC=CH + 2 CuCl + 2 NH; —> CuC=CCu| + 2 NH,CI (aparxmpionico ilua)




